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(iv)

(v)

(vi)

(vii)

(viii)

(ix)

39 J97-97 H 37 Y97 & | @4t yv7 s & /
J97-95 F: GUSI 7 [F9157 8- @US &, @, T, &, U9 o /

GUE & - 97 ET 1 T 20 TglascHid JHR & J97 & | Ie4% Fo7 1 3% H1 & |

QU G — J97 T&I7 21 T 24 37lad TG-FRIT JHR & T & | I3 F97 2 3] #7
8 | 57 J9] %7 I 40 Jsc] @ 37feres 787 for@r a7 =nEy |

g T — o7 T&IT 25 & 29 TY-ITIT JHR & J97 & | I3 To7 3 371 &1 8 |
57 Y91 &7 3K 60 Isg] T e &1 forar S =ifew |

GUg T - Y97 &I 30 T 33 H-3509 IR & ¥97 8 | Iedh J97 5 bl #1 8 |
57 Y991 &7 IX 120 iec] & 37fer 787 forar ST =ifa0 |

GUE & — Y97 G&I7 34 T 36 HH-IMIRA/FId-eRa F97 & I &7 39-397 8 |
Jcdeh G974 371 FT & |

TUE o - J37 G&IT 37 HIHIET HIvIA-TERT 97 & s/ad 3t 971 8 - 37 (a) 3z
(2 37%) 3137 (b) — YIIT (3 37F) | 3T J97 & FT5 37F & |

$G% 3IaIE, & 3 19 gicanad TGNl & 178 Biel To7 Hil=d 3771e TR

] & T WG 37 Jo 1697 T & | §7 FH] & I FIA Glocanyd qiee] &
i@ |

Eusg <h

(Tgfereheda o) (20x1=20)
AfIiad JeTeTl i HICHHATTER SFafedd hifve TR T8 fashed &1 =w=H
Hifrg | 1
I. %™ & i
II. I 1 32l W gHal
III. STl ohl Tehieh(Ul
IV. Toan sfa @ty
Tererew :
(A) L IL IV, III (B) 1L IV, 1, III
C) ILIOI IV (D) I IILII, IV
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General Instructions :
Read the following instructions carefully and follow them :

(i)
(ii)

(iii)

(iv)

(v)

(vi)

(vit)

(viii)

(ix)

This question paper contains 37 questions. All questions are compulsory.
Question paper is divided into six sections — Section A, B, C, D, E
and F.

Section A - Questions no. 1 to 20 are Multiple Choice type questions. Each
question carries 1 mark.

Section B - Questions no. 21 to 24 are Very Short Answer type questions.
Each question carries 2 marks. Answer to these questions should not exceed
40 words.

Section C — Questions no. 25 to 29 are Short Answer type questions. Each
question carries 3 marks. Answer to these questions should not exceed
60 words.

Section D — Questions no. 30 to 33 are Long Answer (LA) type questions. Each
question carries 5 marks. Answer to these questions should not exceed
120 words.

Section E - Questions no. 34 to 36 are Case-based/Source-based questions
with three sub-questions. Each question carries 4 marks.

Section F - Question no. 37 is Map skill-based question with two parts —
37(a) from History (2 marks) and 37(b) from Geography (3 marks). This
question carries total 5 marks.

In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired candidates
only.

SECTION A
(Multiple Choice Questions) (20x1=20)
Arrange the following incidents in chronological order and choose the
correct option. 1
I. French Revolution
II. Napoleon’s invasion of Italy

III.  Unification of Italy
IV. Vienna Peace Treaty

Options:
(A  LIIL IV, III (B) II,IV, 1 III
(C) ILILILIV (D) LIILIL IV
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2. T T &l qfd & e 98t fashed 1 == hiT |
T ant (fies &) & aRa 9 gfrgd uften gf=m < gEt 9
H uged 9 |
(A)  EH g EE % AT
(B) IS I T
(C) FW 9 g™
(D) & 9 3= 9rgu

3. UG & Wd TS el & GEUmeh O Tefed @t fashed 1 waw i |
(A) U 9g 919 9 TG 8%
(B) =R HUATH! F STAIHTI TR
(C) HI.3R. TE 9 A T8
(D) HEH e 9 TER 9o

4. fafafes & @ frem e 5 - “ggur fvet A1 § g€ weHa T R, T T
qEwr |7 2

(A) IR W
(B)  WgTcHT TIeht
(C) SgH A
(D) Twrgedt gl

5. A & s few mw | A afiremed (A) 3 ST (R) B | M1 seEl 1 ufeu
3R Tl forehed w1 =39 SHIT |
T (A) ;- Teaer ¥ gfg Touel 3Tgie #8 &t § 99 HeiR Ushd °
hHITS &7 |
FRU(R)  : 39 g TR Wi I S 1 T Hleh ARG
FRTuT TR T el SR TR |

forerea :

(A)  (A) IR (R) g1 T F, AfrT (R), (A) i &t = 757 2 |
(B) (A) 3R (R) qHI H&l @ AN (R), (A) ! &l RT3 |

(C) (A ¥& 7, dfh (R) TeAd 2 |

(D) (A) Ted 7, A (R) @81 2 |
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2. Choose the correct option to fill in the blank. 1

from India and Southeast Asia travelled through ‘Silk Route’
to other parts of the world.

(A)  Gold and silver ornaments
(B)  Clothes and spices
(C)  Grain and pulses

(D) Iron and other metals

3. Choose the correct option, related to the founders of the ‘Swaraj Party’
within the Congress. 1
(A)  Subhas Chandra Bose and Jawaharlal Nehru
(B)  Acharya Kripalani and Jayaprakash Narayan
(C)  C.R. Das and Motilal Nehru
(D) Mahatma Gandhi and Sardar Patel

4, Who among the following said — “Printing is the ultimate gift of God and
the greatest one.” ? 1
(A)  Martin Luther
(B) Mahatma Gandhi
(C) Johannes Gutenberg
(D) Rashsundari Devi

5. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option. 1

Assertion (A) : The famous ‘Chipko Movement’ in the Himalayas
successfully resisted deforestation in several areas.

Reason (R) : Through this, community afforestation campaign with
indigenous species was made enormously successful.

Options:
(A) Both (A) and (R) are true, but (R) is not the correct explanation of
(A).

(B) Both (A) and (R) are true and (R) is the correct explanation of (A).
(C) (A)1is true, but (R) is false.
(D) (A)is false, but (R) is true.
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6. LAY Ik UM WY 118 HifNw 31 98] faehed o1 ==—A Fifvu |

&y I &y 11

(747) (7a1)
i HER W a. Gags
ii. BNIHS b. M
iii. YTE@ST ATTA c. HHar
iv. :l'lTl'Iﬁ:[ d. #eEd
forerea :

(A)  i-a, ii-b, iii-c, iv-d

(B) i-b, ii-a, iii-d, iv-c

(C) i, ii-d, iii-b, iv-a

(D) i, ii-d, iii-a, iv-b

7. 9 ¥ TS % 3ared A Fafafed =i & ofw (wfasa §) & o erfereham

¥ =[IaH Y ITc] Hal foehod sl =3 ShiTT |

(A) U Yo, HENISE, hideh, SN

(B) HeH Yq¥, HENISZ, IS, Heficeh

(C) WENISE, WEA Q¥ hriceh, S

(D) WENISE, AT, HEA YT, Hleeh

8. Tl % ¢l & U H feu U qenl ol ufeu R T& fosheq 1 =@ v |
I.  9&UTd <hl GHEHT bl A HdT 3 |
II. ol o= < ufshan ol reeg e 2 |
1. foafaydet 4 amse=r wenfud = g |
IV. o1 8 A 6l Yrfier) =1 ST g |
foremea :
(A)  Had L1190 IITEE 8 |
(B) had IL, III9 IVTS % |
(C) Haa LIIT IV 2 |
(D) Had LI VTR 7 |
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6. Match Column I with Column IT and choose the correct option. 1
Column I Column II
(Dams) (Rivers)
1. Sardar Sarovar a. Sutlej
ii.  Hirakud b. Krishna

iii. Bhakra Nangal c. Narmada

iv.  Nagarjuna Sagar d. Mahanadi
Options:
(A) i-a,ii-b, iii-c, iv-d
(B)  i-b, ii-a,iii-d, iv-c
(C) i-c,ii-d, iii-b, iv-a
(D) -, ii-d, iii-a, iv-b
7. Choose the correct option for the following States’ share (in percentage) in
the production of ‘manganese’ in India from the highest to the lowest

order. 1
(A) Madhya Pradesh, Maharashtra, Karnataka, Odisha

(B) Madhya Pradesh, Maharashtra, Odisha, Karnataka
(C) Maharashtra, Madhya Pradesh, Karnataka, Odisha
(D) Maharashtra, Odisha, Madhya Pradesh, Karnataka

8. Read the arguments given in the favour of power sharing and choose the
correct option. 1
I. Reduces the likelihood of bias.
II. Barricades the decision-making process.
III. Accommodates diversities.
IV. Increases the participation of people in power.

Options:

(A) Onlyl, II and III are correct.
(B)  Only II, IIT and IV are correct.
(C)  Only]I, III and IV are correct.
(D)  OnlyI, IT and IV are correct.
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9. YR gfaum § afvfa Trer’ frfafaa § @ fopg g=h & ofaria o1t g 2
(A) =g g
B) TS Il
(C) dwad g=ht
(D) STeht 5=l fawy

10. 1992 § YXd ¥ dfgum e ek Ffafed @ & fora wen o nfgenedt &
o armeqor Sht seEen it TS 2
(A) @ |l
(B) TSI au
(C) Taum uitwg
(D) =ERd

11. = 3 e fm e 2 | A Al (A) 3R FRW (R) € | T AT i Afey
IR TE fosheq 1 ==[ Fifve |
STYHYT (A) : MY TAlhad TSHITdh Gall o T Tg1 ot Fehdl & |
FRU(R) . THaitaa gk shed ToH-319q Fateq-aa1 & gfd samees
q, 3w o uf & |

Tererey .

(A) (A T 7, AR (R) oA & |

(B) (A) T g, fehd (R) &&1 3 |

(C) (A 3R (R) aHI T&l § 3R (R), (A) 1 98 =& 7 |

(D) (A) 3R (R) <H1 T&l &, AfkT (R), (A) T Tt == 77 2 |

12. Tafafea <o o o foran fggelia saazen 8 2
(A) =M (B) Hifeh&aT™
(C) HIH TSI WG (D) ™
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9.

10.

11.

12.

‘Education’ falls under which one of the following lists given in the Indian
Constitution ? 1

(A)  Union List

(B) State List

(C)  Concurrent List
(D)  Residuary Subjects

In which one of the following institutions in India was a system of
reservation for women made by amending the Constitution in 1992 ? 1

(A) Lok Sabha

(B) Rajya Sabha

(C) Legislative Council
(D) Panchayat

Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option. 1

Assertion (A) : Modern democracy cannot function without political
parties.

Reason (R) : Elected representatives will be accountable only to their
constituencies, not towards the country.

Options:

(A)  (A)1is true, but (R) is false.

(B) (A)is false, but (R) is true.

(C) Both (A) and (R) are true and (R) is the correct explanation

of (A).
(D) Both (A) and (R) are true, but (R) is not the correct explanation of
(A).
Which one of the following countries has a two-party system ? 1
(A) China (B) Pakistan
(C)  United States of America (D) France
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13. Tafafea & @ foeg a3 o afgenett =1 a9+ U |99g) (2018) # fafferca
qad 3fYes o7 ?

(A) Fifésw e

B) i (30 T <)
(C) W

(D) TRREN

14. Alhaa i HHfafgd fosmsanett =1 ufeu iR T&@l foshey =1 === IS |
I. %9ad wd g g
II. M % 998 FHH

III. =3k hi TTRAT
IV. SgHEIH &l ITEA
fererew :

(A) had L I19 [T § |
(B) had IL IS IVEE 2 |
(C) e LIIa IVES E |
(D) wad LI VTR 7 |

15. =0 & ey # AEfafad gfifeufa =t 9fgu 3 ko1 & ghricHss gwE i
TEA HIT |

TelH 3T o ToIu hrieie ISf <Rl F&Ld i K0T o gRI IU T & | 3’01 3§
3G o hRRIA Gl qT IcdTGH ol T0F T YU A H GG hidl 3 |

e .

(A) HcilH 9 R0 1 HR ¢ S |
(B) G| <hl HATS §¢ I |

(C)  3cdre H i I |

(D) ElW U1 % 55k H B T B |
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13.

14.

15.

In which of the following regions was women representation the highest
in their respective National Parliaments (2018) ? 1

(A)  Nordic countries

(B) America (North and South)
(C)  Europe

(D) Asia

Read the following characteristics of democracy and choose the correct
option. 1

L. Free and fair elections

I1. Equality before law

III. Dignity of a person

IV. Majority rule

Options:

(A)  Only I, IT and III are correct.
(B)  Only II, IIT and IV are correct.
(C)  Onlyl, III and IV are correct.
(D)  Only]I, IT and IV are correct.

Read the following situation regarding credit and identify the positive
impact of credit. 1

Salim obtains credit to meet the working capital needs of production. The
credit helps him to meet the ongoing expenses and complete production
on time.

Impacts:

(A)  The burden of credit will increase on Salim.
(B) Salim’s income will increase.

(C)  The production will decrease.

(D)  Salim may get stuck in a debt trap.
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flga fog =1 steaea fifve | g § 39 a9 wR rdegeEer %
faftaa & 9 form &3 & T a1 8 2 1

(D) =g

Fig: [AFCIRGd 397 #ac gleeariaa qagmfdean & o7 397 qea 16 & &7 |
&/

frafafea 9 & frE & 6 TEEH 9Rd & doha e 3ag (SELd.) §

Taiferes 7 ? 1
(A)  wTafs

B) e

(C) qdreh

(D) =qIH
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16. Study the following picture. The work done in the picture comes under

which one of the following sectors of the economy ?

(A)
(B)
()
(D)

Note : The following question is for the Visually Impaired Candidates only,

Primary

Secondary
Tertiary
Quaternary

in lieu of Q. No. 16.

Which one of the following sectors has the maximum share in the Gross

Domestic Product (GDP) of India ?

(A)
(B)
(®)

(D)
32/4/1-14

Primary
Secondary
Tertiary

Quaternary
Page 13 of 27
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17.

18.

19.

20.

T @ ed fer MU E | A AR (A) I HRU (R) @ | AT e I UlgT

3R T faehew &1 == KIS |

37T (A) : ARG H his Wl Ak HAA AR W T H GRAN i DR
T&l T HohdT & |

HRU(R)  : WRA H 9 ol TsT FLhR ITTEhd il & |

ey ;

(A)  (A) 3R (R) gH1 &l & 3 (R), (A) T TE =T 7 |

(B) (A) 3IR (R) gHI @&l &, Tk (R), (A) ! T AT 737 % |
(C) (A) @& g, dfhd (R) Toid ® |

(D) (A) TAd 8, Afeh (R) T& 2 |

ffafiga § & SH-91 a9 STHor & TR 61 T&t 9uH Hdl 8 ?
(A) YR W R Feef} FFqet sl g

(B) 3= Sitad & ohl Y& HiT

(C) e o o= dig nfa I wehientur &

(D) focsht Sufi =t piid w1 & fou fomw sveq e

G® g foh™ SR (FT.EH.) HHfdigd 4 & TR MgR | AHa
foepmr T{aTe’ wehIfsTa htat & 2

A)  Tafgior, TaaEer R ey

(B) firen, Tawee 3k ufd =i 3

(C) TS 3T, TTEed 3T sfeh

(D) A BT 3G, SEfiEhl 3R Fa=R

= @ wom fiw mu ¥ | 3 wAfiehem (A) TR wRw (R) § | gFT Sl @l dfew
3R T faehed &1 =3F HIRT |

BT (A) : qoh BB hoichl ! ol o o T dI T 8 B |

FRU(R)  : FS A o I RIMYR &l 8al 2 |

ey ;

(A)  (A) 3R (R) gH1 T&l & 3 (R), (A) T TE == 7 |

(B) (A) 3R (R) gHI W&l §, Tk (R), (A) ! T =T 737 2 |
(C) (A) TE g, Akt (R) Toid ® |

(D) (A) Tod 7, AfhT (R) T&1 2 |
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17. Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements and choose the correct option. 1
Assertion (A) : No individual in India can legally refuse a payment
made in rupees.

Reason (R) : In India the rupee is authorized by the State
Governments.
Options:
(A) Both (A) and (R) are true and (R) is the correct explanation
of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of
(A).

(C) (A)1is true, but (R) is false.
(D) (A) is false, but (R) is true.

18. Which one of the following statements best describes the meaning of
‘Globalization’ ? 1
(A) Removal of tax barriers on trade
(B)  Providing higher standard of living
(C)  Process of rapid integration between countries
(D) Taking special steps to attract foreign companies

19. On which of the following basis does the United Nations Development

Programme (UNDP) publish the ‘Human Development Report’ ? 1
(A) Manufacturing, Infrastructure and Health

(B)  Education, Health and Per Capita Income

(C) National Income, Health and Banking

(D)  Gross Domestic Product, Technology and Innovation

20. Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements and choose the correct option. 1
Assertion (A) : Banks are not ready to lend money to certain borrowers.
Reason (R) : Some people do not have collateral.
Options:
(A) Both (A) and (R) are true and (R) is the correct explanation

of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of

(A).

(C) (A)1is true, but (R) is false.
(D) (A) is false, but (R) is true.
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21.

22.

23.

24.

25.

26.
27.

28.

29.

WQis @
(stfer og-3TdE ee) (4x2=8)
“Sadt w9 9 § T 3R @ 1 & s o1 |7 39 A @ v
Eﬁli\aq | 2
T o 3T Toeh™ o ToTT Hofl fohl ToRR Teh SMMYRYT STTAThal & ? 3Gl
gfga Tose Hife | 2
(a) WRA ! HECHS Fawel H Higge i gt w1 whew @ faget b
i | 2x1=2
AT
(b)  WRd ! HETcH FIEAT § Haied AT %! YfHet 1 we q faga
T Fifsre | 2x1=2
Trenfiehl foh SRR I9iehttl T Tsh HEwdqUl e 7 ? el digd TI
éli\aQ | 2
@UE T
(erg-3viT we) (5x3=15)

(a) TS gl | fafi dgemi, &t o wioiell @ §eg ST -ITerT aigl
q HHEeh YA 1 WIE hd foh{a fohan ? 3o |fgd U hiviw | 3

YT

(b)  “mgred el % fommi o ToUS’ I HIURM % TR H FAGU hl ST

g off |” Iergn "igd 38 HUA hl ¥R hifvu | 3
R § "I SIS i Y i fohegl oA fomrwaret s qui shifsg | 3x1=3
SHwa-fmtor § TeHifae gel i fiest o faveryor i | 3
“Oefior YT SIEAT UehIcHeh YT SJaEAT § 3l 3¢ 8 |7 $9 T hl I
%Fli\ﬁQl 3
¥ & faem & fawg § fafsw o hi arond 5= =0 8 gehdl 8@ 2 3|
Higd saTEe hIfy | 3

32/4/1-14 Page 16 of 27
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22.

23.

24.

25.

26.

27.

28.

29.

SECTION B
(Very Short Answer Type Questions) (4x2=8)

“Until the nineteenth century, poverty and hunger were common in
Europe.” Analyse the statement. 2

How is energy a basic requirement for economic development of a
country ? Explain with examples. 2

(a) Examine the role of the Constitution in the Federal System of
India in two points. 2x1=2

OR
(b) Examine the role of the Supreme Court in the Federal System of

India in two points. 2x1=2

How is technology an important factor of globalisation ? Explain with
examples. 2

SECTION C
(Short Answer Type Questions) (6x3=15)

(a) How did people belonging to different communities, regions or
language groups develop a sense of collective belonging in the

National Movement ? Explain with examples. 3
OR
(b)  “Workers had their own understanding of Mahatma Gandhi and
the notion of ‘Swaraj’.” Explain the statement with examples. 3
Describe any three features of cultivation of millets in India. 3x1=3
Analyse the role of political parties in shaping public opinion. 3

“Federal form of government is in direct contrast to the Unitary form of
government.” Explain the statement. 3

Why could different persons have different notions of a country’s
development ? Explain with examples. 3

32/4/1-14 Page 17 of 27 P.T.O.




30.

31.

32.

33.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

32/4/1-14

(S -3 wea)

Qug Y

(4x5=20)

“rEftet hIfd o SHIETER AT H U ATfeeh dga i Wi Ut i |7

3UYh Rl AlEd 38 HeH i ATEAT hHINT |

AT

“qa o Tadea IUH 4 R® AT e SISTa o W U WieHns

&1 TR fohaT |” IUYE ol HAfed 59 Y i ST T |

<1 <k ATk faemra o fafemior e it et &1 auH ST |

AT

ATk JGUU § =) S ! g9 o AT I3 T foh=al qi HgHi i

U hifSTT |

grfores fafagar & gmee & fou dieds & g w1 fawwn At | 5

HAYAT

T 3T STHHMAT Bl HH HH T Alhdd o Hgw ol 390 iU | 5

“ramifad &9 U Afiehl I EX&U 3R GERdT I AEawhdl 2 |7

30T Higd 39 oq hl 9@ i |

AT

“frsht &zrep <Y Tifafafert =1 e oy i e gl @ |7 Sergn |fed

Y hF hl W hIT |
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30. (a)
(b)
31. (a)
(b)
32. (a)
(b)
33. (a)
(b)
32/4/1-14

SECTION D

(Long Answer Type Questions) (4x5=20)

“The French Revolution created a sense of collective identity
amongst the French people.” Explain the statement with suitable

arguments.
OR

“The Greek war of independence mobilised nationalist feelings
among the educated elite across Europe.” Explain the statement

with suitable arguments.

Describe the role of manufacturing industries in the economic

development of a country.

OR
Describe any five steps taken to save fresh water from industrial
pollution.
Analyse the importance of democracy in accommodation of social
diversity.

OR
Analyse the importance of democracy in reducing poverty and

inequality.

“There is a need for protection and support of the workers in the

unorganised sector.” Examine the statement with examples.
OR

“Activities in the private sector are guided by the motive to earn

profits.” Examine the statement with examples.
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34.

35.

Qe &

(SRE-ATHTRA / EA-STTTRA T9) (3x4=12)

feu TTu &t @1 ufey 3T 37eh A= QU T JeAT % IR ST

1857 % fagig & w1g 9 sl Ta=dl & Ufd W1 o T | g A A
THY U9 1 Yg 9 B hI AT HI | SAI-SAT WINT3 THER-IF TG § THH
¥ ger g T, -l Sfufafe e ¥ we v % yeae W agg dd
B T | BRI YH HMT % d9 W 1878 H THIRIER Y& Ude AN L &
T | 399 AR I AR 39 H S e 3R AYGehT i HEL i 1 AT
T Ud T | o1 ¥ TR 4 fIfve ween @ |+ arer vwTs ommert W fafia
TR W@t I[E A & | TR forel e =t amft SR fgon A on a1 oTEER
qeel el & STl off, R IR <Adrat ol SHEHT g% Al SR 1 Fed fehan
ST EehdT o1 37X BUTS hi 7 B <l S Fehell off |
(34.1) ‘TATFIER & U’ Tohd T W STreicq o 2
(34.2) 1857 & fagig & w1g Y| I Tadaar o Ufd S 1 WA A ded

TR ? TS Y |

(34.3) ‘TATFIER Y8 U’ AT 8H o Tehral Q1 YAl chl SATEAT hHIToIT | 2x1=2

fau T =ra w1 dfeu 3R 3 = g 7u gt & I G

FaTEl FT G - qEed fhet Wt TR o foR™ § el e FHETd
2 | W TETE 1 foeerda 3uhT SR Afd-3U=NT & HHUT S AR -AT(w
3 i gaemd Oe g1 gehdl 3 | 3 gHEsT 9 §e=d % fore fafie e
T EHTGA] T T AGRTH 2 | AT H &l HIYHA] 1 W&V §gd H A
3R Todeni & oI foran =1 fowa @1 7 | Seretond, TS 3 et % e
T 3T TodT 39 el H Sk hl g — “FHR U g AN hl ATawIRdl I
T 95d 39 7, M|%4W%Wﬁ&gw¢é€mgdsl | 3TTq BAR 919 U
HH o [T 98d &, ifehd 98 9 o g 78l 17 36 IfgER fava T W
T BTE o T Arerd! 3Tk Tareff =afeh o smygfes Srenfiehl i Syureeh

ygfa R 8 | 9 T 3cared o faeg 9 o 38 &&H W fUs a9
S RI 3caTed o JaeR 9 |

(35.1) ‘GEtyga FRieH w1 gftfya Shifse | 1
(35.2) GHTEAT o GLEIU <hl STTAIIh] ohl TIL hifoT | 1
(35.3) TS = It et b — %ﬂﬁqlaﬁwlmﬁwiﬁ
$S 8, lfchd Thdl o TATCTd hl Fqfee o foQ &l ? fopegl Eh‘lTUﬁ
forgemor fifse | 2x1=2
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SECTION E
(Case-Based/Source-Based Questions) (3x4=12)

34. Read the given source and answer the questions that follow :

After the Revolt of 1857, the attitude to freedom of the press changed.
Enraged Englishmen demanded a clamp down on the ‘native’ press. As
vernacular newspapers became assertively nationalist, the colonial
government began debating measures of stringent control. In 1878, the
Vernacular Press Act was passed, modelled on the Irish Press Laws. It
provided the government with extensive rights to censor reports and
editorials in the vernacular press. From now on the government kept
regular track of the vernacular newspapers published in different
provinces. When a report was judged as seditious, the newspaper was
warned, and if the warning was ignored, the press was liable to be seized
and the printing machinery confiscated.

(34.1) On which rule was the ‘Vernacular Press Act’ based ? 1

(34.2) Why did the attitude of the British change towards the freedom of
press after the Revolt of 1857 ? Explain. 1

(34.3) Explain any two impacts of passing the ‘Vernacular Press Act.” 2x1=2

35. Read the given source and answer the questions that follow :

Conservation of Resources : Resources are vital for any developmental
activity. But irrational consumption and over-utilisation of resources may
lead to socio-economic and environmental problems. To overcome these
problems, resource conservation at various levels is important. This had
been the main concern of the leaders and thinkers in the past. For
example, Gandhiji was very apt in voicing his concern about resource
conservation in these words: “There is enough for everybody’s need and
not for any body’s greed.” He placed the greedy and selfish individuals
and exploitative nature of modern technology as the root cause for
resource depletion at the global level. He was against mass production
and wanted to replace it with the production by the masses.

(35.1) Define the term ‘Resource Planning’. 1
(35.2) Explain the need for conservation of resources. 1

(35.3) Why did Gandhiji say — “There is enough for everybody’s need and
not for any body’s greed ?” Analyse any two reasons. 2x1=2
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36.

37.

feu v gra #1 ufew o 3Tes = fau U gl % IR G
TghRT giufaat 9w

Sopl o ITATET TTHIUT & § TEd SRUT 1 Ush 31 @id Tghi giufat 3 |

FEhIl AU o FGEA 394 THTEHT Sl S &A1 § HgaT o 7T Tha i & |
3 TR <hl Heehl wiufaal gwa €, S8 — forami, et T SHienfies gl

SCATTG oh! HEhII AT | FHYH gl AHIA FYL h ASGh Teh Md H A

FA 2 | 3Hh 2300 fhEM e 2 | UE AU HEET H SHT YT hLdl

g | 38 S IS 1 ROMYUR "M §U, 39 TERN AHEfG 3 6 9 981 RO AT
R 2 | 38 IS 1 SWIUTA WS i el of o o7 foRaT SaT 7 | Ag ®W

AICH o WG ol o1 QU QR & TRl ST Fhall @ |

Y FEHN GUMd HY IUHTT Glied, @l AT HY AR i, TS

TS, B S IR 3 fafYe TR & =l o foT¢ k0T Jodl Sl & |
(36.1) “Teeptdt wiafa’ wor’ & forg |ia 1 ITE B 2

(36.2) TTHIUT fosh@ T TEwRl ATl o ANTEH hl SRS il |
(36.3) TII-TEAT AHGI <h! Yoil oh fohral QI GGl I I hHIT |

LCLERS]
(AT RIvTE-TeTiE I9)

2x1=2

(2+3=5)

(a) WA oh U T oI WI-AHEET (I8 27 W), § & TAME hl ‘A’ 3R

‘B & ®9 H Afrd foram mn 2 | fafafga Smeei B ggrar 9 3=

GEEITT R 3ok T& TH 39 gHIT Wi 78 W@ret w o

A. T8 TIE & TSt T fia H @dl v 9 fREE & g

gcamrg foRam o |

B. 98 TUM gl MY 7 THh hid qIeT T |

(b) WRA & 3H UoHIfdes AW H, efdafed @ @ fedl @7 &t

39k ol © guifse 3R 3 am farfau -
(i) eI —dd &

(i) =R — Y@ HIIA! GH

(iii) ORI — GEATY] o1l 93

(iv) TR — J@ dgg qod
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AN
36. Read the given source and answer the questions that follow :

Loans from Cooperatives

Besides banks, the other major source of cheap credit in rural areas
are the cooperative societies (or cooperatives). Members of a cooperative
pool their resources for cooperation in certain areas. There are several
types of cooperatives possible such as farmers cooperatives, weavers
cooperatives and industrial workers cooperatives, etc. Krishak
Cooperative functions in a village not very far away from Sonpur. It has
2300 farmers as members. It accepts deposits from its members. With
these deposits as collateral, the Cooperative has obtained a large loan
from the bank. These funds are used to provide loans to members. Once
these loans are repaid, another round of lending can take place.

Krishak Cooperative provides loans for the purchase of agricultural
implements, loans for cultivation and agricultural trade, fishery loans,
loans for construction of houses and for a variety of other expenses.

(36.1) ‘Cooperative society’ is an example of which source of ‘credit’ ? 1
(36.2) Explain the contribution of Cooperative Societies in rural
development. 1
(36.3) Mention any two sources of capital for Self-Help Groups. 2x1=2
SECTION F
(Map Skill-Based Questions) (2+3=5)

37. (a) Two places ‘A’ and ‘B’ have been marked on the given political
outline map of India (on page 27). Identify them with the help of
the following information and write their correct names on the
lines drawn near them :
A. The place where Gandhiji started Satyagraha for indigo
peasants. 1
B. The place where Gandhiji broke the Salt Law. 1

(b)  On the same political outline map of India, locate and label any
three of the following with suitable symbols : 3x1=3
(i) Naharkatiya — Oil field
(ii))  Talcher — Major Coal Mines
(iii) Narora — Atomic Power Plant
(iv)  Tuticorin — Major Sea Port
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Fie: [HEIRad Jo7 Fac7 giteariaa qhgniaar & o7 J97 &7 37 & T T/
g1

fahgT aier y91 & 3¢ a7 | 5x1=5
(37.1) 39 TIH k1 I faRgu &t miefisht 3 e i @dl &= 9 e =
Tou “geamrg’ foram o |

(37.2) 38 TIM I AW ARG Sl AelS 5 F9 g dqrer o |
(37.3) TEThIcA I & fopdt T 1 & 2 2

(37.4) 39 TSF 1 9 TARGU &l Ge=’ THE@ ¥l ! @H €Iq 8 |
(37.5) 39 U=A 1 W fafgn Sgf o T ot @ fova 2 |

(37.6) qARITE TG a0 Tl s 1 fed@ 8 2
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A
Note : The following questions are for the Visually Impaired Candidates
only, in lieu of . No. 37.
Attempt any five questions. 5x1=5

(37.1) Name the place where Gandhiji started ‘Satyagraha’ for indigo
peasants.

(37.2) Name the place where Gandhiji broke the Salt Law.

(37.3) In which state is Naharkatia oil field located ?

(37.4) Name the state where Talcher major coal mines are located.
(37.5) Name the state where Narora Nuclear Power Plant is located.

(37.6) In which state is Tuticorin sea port located ?
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For question no. 37
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Political Outline Map of India
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